
80Ga Z = 31 N = 49 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 680.676 ( 0.003) MeV

Qbeta- = 10.312 ( 0.004) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

80GA 1 | | | 0.000 6(-) 1 1.9 S 1

80GA 2 | | | 0.022 3(-) 2 1.3 S 2

80GA 3 | | | 0.097 (4) 3

80GA 4 | | | 0.403 4

80GA 5 | | | 0.577 5

80GA 6 | | | 0.708 (1+) 6 18.3 NS 5

80GA 7 | | | 0.735 7

80GA 8 | | | 0.911 8

80GA 9 | | | 0.951 (1-,2-) 9

80GA 10 | | | 0.987 (1-,2-) 10

----------- -----------------

80GA 11 | | | 0.990 11

80GA 12 | | | 1.142 12

80GA 13 | | | 1.153 13

80GA 14 | | | 1.194 14

80GA 15 | | | 1.214 15

80GA 16 | | | 1.290 16

80GA 17 | | | 1.300 17

80GA 18 | | | 1.356 18

80GA 19 | 1.450 1+ | | 19

80GA 20 | | | 1.526 20

----------- -----------------

80GA 21 | | | 2.044 21

80GA 22 | 2.092 1+ | | 22

80GA 23 | | | 2.560 (1+) 23

80GA 24 | 2.677 1+ | | 24

80GA 25 | | | 2.822 (1+) 25

80GA 26 | | | 3.329 26

80GA 27 | | | 3.380 27

S-p = 13.080 ( 0.004)----------------------------------------------------------------------

S-n = 4.747 ( 0.003)----------------------------------------------------------------------

S-2p = 29.012 ( 0.014)----------------------------------------------------------------------

S-2n = 11.662 ( 0.003)----------------------------------------------------------------------

S-alpha= 10.667 ( 0.003)----------------------------------------------------------------------

S+p = -14.357 ( 0.004)

S+n = -6.476 ( 0.004)

S+2p = -25.460 ( 0.005)
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S+2n = -9.850 ( 0.004)

S+alpha = -9.055 ( 0.004)

gap p = -1.277 ( 0.005)

gap n = -1.729 ( 0.005)

gap 2p = 3.552 ( 0.014)

gap 2n = 1.812 ( 0.005)

gap alpha = 1.612 ( 0.005)
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